nfs4= (% pracujeme s BSpline bazi )

inpss= knots = {0, 0, 0,0, 0.1,0.3,0.5,0.5,0.5,0.5, 0.6,0.6, 0.9,1,1,1, 1}
ouytss= {0, 0, 0, 0, 0.1, 0.3, 0.5, 0.5, 0.5, 0.5, 0.6, 0.6, 0.9,1, 1,1, 1}

nfs6l= P = 3
out[156]= 3
ni1571= m = Length[knots] -1

ou157= 16

nsgl= n=m-p-1
out[158)= 12
n159)= Plot[Evaluate[Table[BSplineBasis[{p, knots}, i, t], {i, 0, n}]],

{t, First[knots], Last[knots]} , Filling - Axis,
PlotRange -» Full, PlotTheme - "Scientific"]
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niie0p= P = Table[{Cos[i*Pi/n], Sin[i*Pi/n]}, {i, O, n}];

6= sh[i_] :=1+1;

nfe2;= pll = Graphics[Line[P]];

ne3y= ¢ = Sum[P[[sh[i]]] * BSplineBasis[{p, knots}, i, t], {i, O, n}];
nie4= pl2 = ParametricPlot[c, {t, 0, 1}];

nf1es= Show[pll, pl2]

Out[165]=

In[166]:=



